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2x +4 = 10~4x
@2x+4x:10—4 @ 2x-4x=10+4
® 2x+4x=10+4 @ 2x+4x=-10-4

® 2x-4x=10-4

2x + 4x = 10 — 4 o|th,




-2x+5="7-5x
DO -2x+5x=T74+5 @ -2x-5x=7-5
® -2x-5x=7+5 @ -2x+5x=-7-5

@—2)6—1—5)6:7—5

-2x+5x=7-5
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D 23 +x)-2x=0 @ 3x—4=4+3x
@r-2+1-+x-1 @ 3-2+20

® -x+3=-x+5

@x-2x+1=x2+x-1>-2x+1=x-1(L%




=2x+4

@ x?

@D 2x-—2=3+2x

3x—6

® 3(x-2)




@—4x+9=9—4x

@® 3x-2=5x+38

® 2x2 -7

@ xX>+5x+6=x>+1

x(2x-3)

@x2+x) =20x+1)
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@ x=1

@ x=-1

® x=3

bx—4x+4=8-x

Lx=2




FAAx-7)+2=3(x-8) + 104 $W| P& RE FFHO R
ojFsta AL Fefote] ax+ b =00 B vl A2?

® -3x-3=0 @ -3x+3=0 ® -x-3=0
@x—?):O ® x-1=0

4x—2842=3x—-24+1, 4x-26-3x+23 =0, x—3 = 0°]t}.




8. o2 WAAE olFst ax = p O] T2 NHE W, ab O] W27 (H,
a%t b= AR A 2AS)

4x—-5=2-6x

® 12 @ 20 ® 30 @ 56 @70

B ~

4x+6x=2+5
10x=17
La=10, b=7

s.ab =170
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9. TR A F QWP AL BE @A

@ 3x-2=7 O 3x=2x-1
© 3x-2=x+14 ® x2=3x+2

@ 2x% -2 =3x+ 2x2

O1A @274 @30 @4711 ® 5 7

@, ©, ©, @4 LAFHEA
@ x* =3x+2: oA A




10. Ya<i7]>F dAPEAS =5 2 7R

© 3x+1=5x-2

@ 2x—-1<x+2

@ -2x+3 © 2x-1)=2x-2

B

o1 @274 @3AH @aA O5A
@ —2x+3 : LA

©2x-1)=2x-2: 54
©3x+1=5x-2-2x-3=0: AxpLAHA
@x2-2x-1=x*-2, —2x—1=-2: LXEAA

@2x-1<x+2: 254
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ax = b 7} AAPAAC] H=H a # 0 o]ojof Tk,
X+7=5-ax

(I1+a)x=-2

w2bA] a4+ 1 # 0 ]t
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WA 24+ b = 5 - ax 7t QAR A] 57] 915 a I

D a=2b=5 @ a=-2,b=5 ® a=-2
@ a+-1 @a¢—2

~&B

ax = b 7t AR Alo] Sl m a # 0 o]ofof T,
2x+b=>5-ax

24+a)x=5-b

mehA 2+ a # 0

= a#-27} Hlojo} Bk,
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B

6x—4+3=4x-6




O 2x-1=2
®4-(x-1)=x
® 5=2(x+1)

~&B

3x =6, x = 29|t}
@A —(x+1) =x-5= =
—2x = —4,x = 2°]|th,

H

20x-1) =4-xEEW2x-2=4—-x,2x+x = 4+2,

—x—-1=x-5,—-x—x=-5+1,
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oFHof 10 & H5HH,
6x—20=x
5x = 20

Lx=4




16. o5 dAPEAA Foll A 0.12x - 0.1 = 0.26 7 si7F 22 27

D 3x-6=0 @—2x+3:—3 ® x-2=11
@ x-5=8 ® 2x-6=10

B

0.12x - 0.1 = 0.26
12x - 10 = 26

12x = 36

Lx=3

@ —2x+3 = -394
—2x=-6, .. x=3
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DO 4+2x=-3x>2x+3x=4
@—4x—3:x+1—>—4x—x=1+3
@ 3x-1=2x+1-3x+2x=1-1
@ —x-4=5x+2—>-x-bx=-2+4

® 3x=6x+11 - 3x+6x=11

B

D4+2x=-3x—>2x+3x=—4
@3x—-1=2x+1—>3x-2x=1+1
@ —x-4=5x+2—> —x-5x=2+14
®3x=6x+11 - 3x—6x=11
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O xt2=-1 » x=-1-2
@ —dx+6=0 — 6= dx
® 2x+5=5-x — 2x+x+5=5

@ —2x-3x=5x —» —-2x-3x-5x=0

@&—Gx:)_c—m - —6x-x=-12438

®8-6x =x-12
—-6x—x=-12-8
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@ a=0bolH

© a=bolHa+c=b+c
@ a=0>b °|H ac = bc

© a=b o]
@ a=bolH

® 0,0

@e. @
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Hise

6x—-8=3x+16

3x =24

b
a=3,b=240]B2 - =38
a




2)-7 ® o0 @ 2 ®7

O -14

10

5x—2(2 - x)

ox—4+42x =10

14
La=17 b=14

~a—-b

Tx
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T A —x+5(x-2) = -17-3x 9 Sl E2 SHE 2

A1e 12HY

& 0
oX o

O -x+10=3(x+2)-2x @ 3(x+4)=-(x-8)-4
® -(x-3)+9=2(3x-1) @D 4x-(x-7)=-2(1-x)
@3x—(x+4):x—5

—x+5(x-2)=-17-3x

—x+5x—10=-17-3x

Tx= -7 Sox=-1

® -x+10=3(x+2)—2x
—x+ 10 =3x+6 — 2x
—2x=-4 Sox=2

@3(x+4)=-(x—-8)-4
3x+12=-x+8—-4
4x = -8 Soox=-2

®-(x-3)+9=203x-1)
—x+3+9=6x—-2
—-Tx=-14 Soox=2

@dx—(x-7)=-2(1-x)
dx—x+7=-2+2x
©ox=-9

®3x-(x+4)=x-5
3x—x—4=x-5

x=-1
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(i)x<-§%_‘tf41

Bx 4+ 4] -1 =13 - 2x]
—(3x+4)-1=3-2x
-3x+2x=3+5
x=-8(0)

.. 4 3
(11)—§$x<§?=_]‘m

Bx + 4| -1 =3 - 2x]
3x+4-1=3-2x
3x+2x=3-3
x=0(0)

oo

Bx+ 4| -1 =13 - 2x]
3x+4-1=-(3-2x)
3x-2x=-3-3

x= -6 (X)

(iii) x >
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6x—14 = 2(5+6x) - 3

C} -
[=

3
> ®E: x=

6x—14 =2(5+ 6x) — 3
6x—-14 =10+ 12x-3
6x—14=12x+7
6x—12x=T7+ 14

—6x =21
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